SAP ABAP table TCMS PCN A SSTTR {System Status Transition for an Activity}

TCMS_PCN_OB]

PROC_OBJ [CHAR (6)]

TCMS PCN A SSTTR-ACTIVITYID = TCMS PCN ACTVI-CR ' TYPE 0N

_________________ 0.N

%: ___ TCMS_PCN_A_SSTTR-PROC_CKY = TCMS_PCN_CKY-PROC_OB]
1-_  TCMS PCN A SSTTR-CR TYPE = TCMS PCN CR TY-PROC CKY 0.N
0N

TCMS_PCN_ACTVT

MANDT [CLNT (3)]

PROC OBJ [CHAR (6)]

PROC CKY[CHAR (10)]

PROC AREA [CHAR (6)]

CR_TYPE [CHAR (6)]

ACTIVITYID [CHAR (10)]

TCMS_PCN_AREA

MANDT [CLNT (3)]

PROC AREA [CHAR (6)]

TCMS_PCN_CKY

MANDT [CLNT (3)]

PROC OBJ [CHAR (6)]

PROC_CKY [CHAR (10)]

TCMS_PCN_CR_TY

MANDT [CLNT (3)]

PROC OBJ [CHAR (6)]

PROC CKY[CHAR (10)]

CR_TYPE [CHAR (6)]




